25
(‘h"D‘{l
fon (4~ )T do
foltec ) = 4y -
dy =¥

LS
dd Qxdn

f 2o (W) P -
G

A
%/‘u(l -
B

1 Qu/’l +C
Lt ‘/9/




Lmkejml c{ sec’y = tany #€

e
<

tan (3m + W)

-
3

b

0 TR
Pz [aelst? -N" &b
o) = 0 = 2% -
i = L%
g5 &
oo Jeee o . dts d

2 (o4 (u)Pdk

%f 26 (D™ -du

6’6




N [um Cw z)"]

i S \‘7 [(_'Z.?L'\\(DC“ 3) la.] .
L layy = [l + a(z-2)" BT ~(ialan-) + lalxa2)]
—— - coalat) +1 )((,ip"(z] —[_L W

E = ..,__j ch 7 {C?CH) Cn .?,)(2 23 J_[Zx\ : CEQ

. Z_(ﬂﬂ) + (x ?_) o + 3(x+3 P
S e o

,_,4__;914' Fiotirsio g s 1- A e
s [\M\) 2(x-2) 2x-l p(nd3)
L e i} { + _|__ P __Z__ —,-._é______.__,
Cdn Oy 2(x z) Z:ﬂ"] 2(t3) =50 =
- < (V) L_PJ g . e R |
dx  (2x-) (s3> CKrD 2f=2) g AZC’“,

z
L

2 = [3 o] B
\ - [ —Lfll ] :

e et V\\j = [L‘def 4 n gin2x  —" . Sl e
" Lo é»j( g « (3¢°) A*f(_.‘,_ : £ los\ ] '—L%
——‘_——_ i f o 3¢ SnZatiedl ,a)l“ PR =

j !,}{ s——+—Ftosie — 7_57_,‘@;:,&

LA A 7
e i Y o . VW 22 B 255 o

2

9 47,
e 7 O .9 V'E =




